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BIOLOGY SSC-li
SECTION — A (Marks 12)

Time allowed: 20 Minutes

Revised Syllabus

NOTE:- Section—A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.

Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(i) The glottis is guarded by a flap of tissues called .
A Larynx B. Epiglottis C. Pharynx D.

(if) Which of the following organs is respensibie for excretion in human body?
A Intestine B. Stomach C. Brain D.

i) Which part of the brain contains sensory areas that receive impulses from skin?
A Frontal lobe B Thalamus C. Parietal lobe  D.

{iv) Which of the following are NOT hormones?

A Insulin B. Thyroxin

C. Glucagon D. Pepsinogen
(V) How many bones are present in human vertebral column?

A 33 B. 24 C. 22 D.
(vi) The horizontal underground stems with scale leaves are called

A Bulbs B. Stemtubers  C. Corms D.
(vil) Testes are located in a bag of skin called

A, Epididimys B. Seminal vesicles

C. Scrotum D. Vas deferens

(viit)  The positions of genes on chromosomes are known as

A Loci B. Alleles C. Genotype D.
(ix) The trait of flower colour in four-O-clock plant is an example of

A. Codominance B. Incomplete Dominance

C. Dominance D. Over Dominance
{x) Which of the following organisms are predators?

A - Viruses B. Ectoparasites

C. Epiphytes D. Carnivor plants
(xi) The vector DNA and the attached genes of interest are collectively called

A Isolated DNA B. GMO

C. Recombinant DNA D. Product
(xii) The drugs which reduce pain are called

A Analgesics B. Antibiotics C. Sedatives D.

For Examiner’s use only:
Total Marks:
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BIOLOGY SSC-li
(Revised Syllabus)

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE:- Answer any eleven parts from Sectlon ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B (Marks 33)

Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x3=33)
(i) What is Bronchitis? List its types.
(i List the various organs of breathing system in human being.

(iii) Write down the properties of Hydrophytes.
(iv) What is the Osmoreguiatory function of kidney?
(v) Draw a labeiled diagram of Neuron.
(vi) What is Epilepsy?
(vii) What is the role of Skeletal muscles?
(viil)  What are the advantages of vegetative propagation in plants?
(ix) How do Oogonia develop into egg cell?
(x) What is the Theory of Special Creation?
(xi) Define the following:
a. Genotype b. Dominant c. Recessive
{xil) What are Consumers? Give their types.
(xil)  Whatis Nitrogen Fixation? Write down the ways in which it occurs.
(xiv)  Whatis Continuous Fermentation?
(xv) Differentiate between Medicinal drugs and Addictive drugs.

SECTION - C (Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2 x 10 = 20)
Q.3 a Describe the structure and functions of retina of human eye. (2+3)
b. How does the size of pupil in human eye vary with the light intensity? (03)
c. What is the function of Adrenaline? (02)
Q.4 a. ° Describe the reproductive parts of flower. Also draw the labelled diagram. (3+2)
b. What is Pollination? Give its types. (03)
c. Define the two types of Germination of seed. (02)
Q.5 a Describe Carbon cycle and give its fiow chart. (3+2)
b. Write briefly about the Ozone depletion. (03)
c. Write a note on Eutrophication. (02)
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Roil No. E j T | 1 Answer Sheet No.
Sig. of Candidate. Sig. of Invigilator.
BIOLOGY SSC-lI
SECTION — A (Marks 12)
Time allowed: 20 Minutes Revised Syllabus

NOTE:- Section-A is compuisory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencit.

Q.1 Circle the correct optioni.e. A/ B/ C/ D. Each part carries one mark.

0] in normal circumstances i.e at rest humans breath times per minute.
A 16 — 20 B. 20 -25 C. 20-30 D. 30 - 40
(ii) What are called the plants possessing thick, waxy cuticle over their epidermis and less number of
stomata”?
A Xerophytes B. Hydrophytes  C. Halophytes D. Mesophytes
(iii) Which vitamin is required for the synthesis of Rhodopsin?
A Vitamin K B. Vitamin A C. Vitamin E D. Vitamin B
{iv) By which gland are Insulin and Glucagon produced?
A Pituitary B Liver C. Thyrod D. Pancreas
(v) Lack of Protein and Vitamin C or the deficiency of Estrogen hormaene causes i
A Arthritis B. Gout C. Ostecporosis D, Osteo-Arthritis
(vi) Some worms spontaneously break up into many pieces. Each piece develops into a mature worm.

This process is called

A Fission B. Fragmentation C. Budding D. Spore Formation
{(vii) In female rabbit fertilization occurs in
A Ovaries B. Cervix C. Uterus D. Fallopian tubes

{viii) DNA wraps around histone proteins and forms round structures called

A Nucieosomes B. Chromatin C. Nucleotide D. None of these
{ix) Expression of human blood group AB is an example of

A Dominance B. Incomplete Dominance

C. Co-Dominance D. Over-Dominance
{x) When we eat an apple, our trophic-level is

A. Producers B. Herbivares C. Carnivores D. Top-Carnivares
(xi) Which of the following is an Anti-viral protein?

A. Urokinase B. Thymaosin

C. Beta-Endorphin C. Interferon

(xii) Which of the following drugs interact with Central Nervous System (CNS) to depress its activities?
A Sedatives B. Narcotics C. Hallucinogens D. Antibiotics

For Examiner’s use only:
Total Marks: 12|

Marks Obtained:
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BIOLOGY SSC-lI
(Revised Syllabus)

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE:- Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B {Marks 33)

Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x 3 =33)
(i) Describe the mechanism of inspiration.
(i) What are the symptoms of Emphysema?

(iii) What is the difference between Transpiration and Guttation?

(iv) Write the function of Skin as a homeostatic organ.

(v) What is the function of Thyroid gland?

(vi) What is Myopia®?

(vii) What is the difference between Bone and Cartilage?

(viiy  What is Double Fertilization?

(ix) What are the functions of Urethra and Prostate gland in Rabbit?
{x) What is Translation of gene?

{xi}) What are the main sources of variations in sexually reproducing populations?
{xii) What is Mutualism? Give example.

(xiii)y  List the basic steps in Genetic Engineering.

{xiv)  Whatis the importance of biotechnology in the field of Medicine?
(xv) What are Narcotics?

SECTION - C (Marks 20)

Note: Attempt any TWO guestions. All questions carry equal marks. (2 x10=20)
Q.3 a. Describe the functions of the major parts of human Forebrain. (05)
b. Write a note on the process of hearing in man. (03)
c. What is Goitre? (02)
Q.4 a. Describe the structure of dicot seed. (05)
b. Explain the process of Spermatogenesis in rabbit. (03)
c. What is Parthenogenesis? (02)
Q.5 a What is the law of Independent Assortment? Explain with example. (06)
b. What are the major processes of organic evolution? (02)
c. What is the chemical composition of Chromatin? (02)
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Answer Sheet No.

Sig. of Invigilator.

...........................................................................................................................................................................

BIOLOGY SSC-li

SECTION — A (Marks 12)
Time allowed: 20 Minutes Old Syllabus

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting Is not allowed. Do not use lead pencil.

Q.1 Circlethe correct optioni.e. A/ B/ C/D. Each part carries one mark.

(i) In normal young adults the systolic blood pressure is .

A 80 mm Mg B. 100 mm Hg C. 110 mm Hg D. 120 mm Hg
(ii) The stomatal opening is controlled by the .

A Pore cell B. Guard cell

C. Epidermal cell D. Both Aand B
(ifi) The colour of malpighian tubules is .

A Red B. Brown C. Yellow D. None of these
{iv) The amount of water in blood is regulated at about )

A 92 % B. 96 % C. 80 % D. 82 %
(v) Cambium is a small ring between

A Epidermis and Endodermis B. Bark and Wood

C. Autumn wood and Spring wood D. None of these
(vi) The number of pairs of ribs in human body is

A 10 B. 1" C. 12 D. 13
(vif) Responses associated with ‘fight or flight’ are controlled by

A Cranial Nerves B. Sympathetic Nervous system

C. Body position D. Visual
(viii) Sexual reproduction is based on

A Mitosis B. Binary fission C. Multiple fission D. Meiosis
(ix) Adenine pairs with .

A Guanine B. Uracil C. Thyamine D. Cytocine
(x) Which of the following is an exampie of Continuous variation?

A Tongue rolling B. Blood group in human beings

C. Height in human beings D. None of these
(xi) The variety of species in an ecosystem is known as

A Biomass B. Biodiversity C. Community D. Competition
{xii) Pathogenic Microorganisms are

A Viruses B. Bacteria

C. Fungi and Protozoa D All of these

For Examiner’s use only:
y

Total Marks: 12
Marks Obtained:
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BIOLOGY SSC-l
(Old Syllabus)

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B {Marks 33)

Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x3 = 33)
M How is water important to life?
(i) Give the quantitative analysis of blood in a normal human adult.

(i) What is meant by Deamination?

(iv) Which is the chief excretory unit in higher vertebrates and lower vertebrates?

(v) On what factors does the young dicotyledonous stem depend for its turgidity and support?
(vi) Give the major division of skeleton of man.

(vil) Write down the functions of the three types of Neurons.

(viii)  Write a brief note on the Parathyroid gland.
(ix) How could you differentiate among the types of poliination?
(%) Write briefly about Neurala an embryonic stage of frog.

(xi) Why are genes the unit of inheritance?

(xii) What is Diabetes Mellitus?

(xiif) Give any three examples each of Discontinuous and Continuous variations.
{xiv)  Define Ecclogy.

(xv} What are the advantages of Biological Control Method?

SECTION - C {Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2 x10 = 20)
Q.3 Explain Mendel's Law of Independent Assortment by making a Punnett Square. {(10)
Q.4 a Explain Seed germination with its types. Also draw the diagrams. (05)
b. Describe the conditions necessary for germination of seed. (05)
Q.5 Explain Tropic movements and its types. Also draw the diagrams. (10}
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